期末综合小练（11）
已知[image: image1.png]


是锐角，[image: image2.png]@ =(sina)b = (cosa




，且[image: image3.png]i/ /b



，则[image: image4.png]


为[image: image5.png]


     [image: image6.png]



A. 15[image: image7.png]



B. 30[image: image8.png]



C. 30[image: image9.png]


或60[image: image10.png]



D. 15[image: image11.png]


或75[image: image12.png]



已知两点[image: image13.png]A(1.2



，[image: image14.png]B(4,—2)



，则与向量[image: image15.png]


共线的单位向量[image: image16.png]


　　[image: image17.png]



A. [image: image18.png](3.—4)




B. [image: image19.png](3.—4)



，[image: image20.png](-3.4




C. [image: image21.png]



D. [image: image22.png]


，[image: image23.png]



已知[image: image24.png]sin(z + 1) =




，则[image: image25.png]


 ______ ．
已知[image: image26.png]f(x)



是定义在R上的偶函数，且[image: image27.png]


时，[image: image28.png]) = logs(~x+ 1)



．
[image: image29.png](1)



求[image: image30.png]f(3)+f(—1):




[image: image31.png](2)



求函数[image: image32.png]f(x)



的解析式；
[image: image33.png](3)



若[image: image34.png]fla—1)<—1



，求实数a的取值范围．








(11)答案和解析
1.【答案】C
【解答】
解：根据题意，[image: image35.png]


，
若[image: image36.png]i/ /b



，则有[image: image37.png]s
sinacosa =3

kel



，
即有[image: image38.png]


，
又由[image: image39.png]


是锐角，则有[image: image40.png]0°<2a<180°



，
得[image: image41.png]2a




或[image: image42.png]120°



，
则[image: image43.png]30°



或[image: image44.png]60°



，
故选C．

2.【答案】D
解：[image: image45.png]


，设与[image: image46.png]


共线的单位向量[image: image47.png]


，因为[image: image48.png]


，且[image: image49.png]2|




，
所以[image: image50.png]{12+3'z:1‘



解得[image: image51.png]


或[image: image52.png]


所以[image: image53.png]


或[image: image54.png]


．故选D．
3.【答案】[image: image55.png]



解：[image: image56.png]


，[image: image57.png]sin(E—x) + cos? (5 -)




[image: image58.png]= sinfr — (x+ )] +cos? [~ (x+ D] =sin(x+ ) +sin?(x+ D) = 7




．
故答案为[image: image59.png]


．
4.【答案】解：[image: image60.png](1)~ f(x)



是定义在R上的偶函数，
[image: image61.png]


时，[image: image62.png]logi(—z+1)



，
[image: image63.png]S B)+ f(=1) = f(=3)+ f{—1) = logid + log, 2




；
[image: image64.png](2)



令[image: image65.png]x>0



，则[image: image66.png]—x<0



，[image: image67.png]fF(-x) =logs(x+ 1) =f()




[image: image68.png]


时，[image: image69.png]) = logs(x+1)



，
则[image: image70.png]logy(—x+1), x<0
fO) =\ioga(x+1), x>0





[image: image71.png](3)+ () =logs(~x +1)



在[image: image72.png](— ,0]



上为增函数，
[image: image73.png]


在[image: image74.png](0, +o0)



上为减函数，
[image: image75.png]fla—1)<-1=f()



，所以[image: image76.png]f(la—1]) <f(1;



，
[image: image77.png]la—1]>1



，
解得[image: image78.png]a> 2



或[image: image79.png]a< 0



．
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